INFRARED GATE
OPENER SENSOR

(Door and window balcony anti-theft, barrier signaD




Infrared sensor

IP65 waterproof
rating

Anti-false alarm
design

Imported chips

Smart pet-proof
design

180 degree rotating
focus




Alarm host

'S
e S S S,
i EEE—— . 1
E \ =
'I. L
' h
i
J'K
L -
} Lty
i 4 .
] e
i

whe n you g0 out TR N
The Infrared Gate Opener Sensor can be used with the alarm host to
realize remote control/alarm.



Invisible infrared light

NobTra adopt high-quality imported industrial-grade infrared on-beam
emission tube, infrared is not harmful to the eyes, the infrared beam is
concentrated without scattering, good stability, and long service life.




Accurate detection.Anti-report

When small animals or falling leaves outside block a beam of light, the
Infrared grating will not send out an alarm signal. The alarm will be
triggered when the intruder blocks two or more beams at the same time
for more than two seconds.




IP65 waterproof rating

NobTra Infrared Gate Opener sensor adopts a sealed and waterproof
design, so there is no need to worry about the impact of the complex
outdoor environment on it.Install in multiple pairs without interference

\ with each other.

W
I




180 degree rotation

Fully rotating focus, left and right can be rotated 180 degrees arbitrarily,
It is convenient to project and focus in all directions during installation,
making installation easier.




— LR N E .Y LW T F_F N




F
& .-__..-":-.
m A
L
g
-
o
Y

P,

L
[} X

o
7

s

PRSIV B LT
] ?—- 'r'h." r .‘_-I"' k y
A &
It W E
/ #-.' :Z'i . T' e

A
‘-1.

¥

n

%4

F

—

)
7
—_ -
= = g
ki
=T
o

e T T -
s g A o T L e —
] b Tk - .
g ¥ AT.S EEASEE RN S . -
LR = 3 S P et i oy “S—
- . i " - -
-t s . : . :
ﬂ_":_ .l: - = i 1
i Fooma ] Ak e e bgl| | T 4 ; - .
i ; 0 = | s e, S
Lo - e i Sleml g i~ _-_.:. = . -
R- 5 + o e -' - :
& < .
- . -
= .
o< ; N |
— : | "‘-
e
: — =
1
e .
D i, . | -
E E . | l.
=~ - -
,a-""'..-lﬂ.ﬁ-. -
- — Y
ST
= =il L R P
- il
o
J‘-
i T . -
[ A b | i —
: i R b N ™
.I
I







h

I-pinc

ar
-
(C
-
o
Q
-

1C

L

Automat




Barrier lifting pole

z3= 1

[ = e Ity
= =1
=1 ] e

]

[+ | =
i - b1 —
. b | . - i e
S e | === - -
= o m | === i W
= = - e
- -
e m— = - = 2 N = | &=
-
=
=

— i
L3
.__
|
¥
|
. -.- =
&
r‘T;;..';" P——
|
!

=

3 ; e . 1 I i ¥ M
| _ . . i

.._ ! i - (glamg s S f B i g — = AT = ; .. E 1 i . | |
I....J_.__ ..“_ Bt b _.._.“..u,.__.nnﬁ i AR G J

i U _

S
_——

._““_ m. _”_ i i Fy f

I i =l
¥ | _ '
= . | — 1 .-—- B | 4
e = =il e _ i
.|H = l.".“...l.“_ = k A | \ i 1 b
= = | .... ! i L]
- =5 £ o)
.u.1 y 1
_ J
| ]
: " ¥ - ' +.- . ‘
F———— ] - E
d - e R - =
-. [ §= - i
—_——— — — |
=== = o EEE AR
——— S “mnuumm. | ] k.
SEC-EE  3)iEEG Sk
= m“H” L L] ...... ﬂ ..._. »
1=t R IEEE L
SE=S =5  Flamm A \ |
it L _— = . j .
SEES “iH Py \ 4 Nyt
- — T e . % i N gk
= -3 o I .
| L =
. [ AL
e = .- i ! i ™ ; ¥
1 — [
==n e == 4 UL R Y ;
3 . d 0
e J— a -. -
e=— L REET

—
9 )
i
|
"
|
b
el
TR
T
-

! ul.-u_iI
o

wy LAy
o e by

....._-_..F. A AT Y J_..
R

A= T .

_...._..._ | .

VA ... 4

-
-
—_——



A variety of specifications are available to
meet your different needs.

length

200
CM




PRODUCT INFORMATION

PARAMETER
v

PB10-4L15 PB20-8L15

Number of beams 4/8(or other long optional)
Height 30cm,100cm,200cm(Or other long optional)
Detection Distance 15M
Working Voltage DC12-24V
Transmitter Operating bl
Current
Receiver Operation <50mA

Current

Response Time

50/100/150/200ms adjustable

Trigger Time

Block a beam of light,trigger in 2 seconds,block
adjacent 2 beams or more,trigger immediately

Induction Method

Single beam trigger or Multi-beam trigger
(can selected)

Working Temperature

-20-60°C

Ambient Temperature

90%RH In Max(No condensation)

Alarm Output

Wired Output,relay Output 30 VDC@2A,125VAC@1A

Output Way(Wired Model)

Wired transmission (NO/NC)

Rotation Angle

180 degrees horizontal

IP level

P65

Material

Aluminum Alloy And PC Plastic




PRODUCT INFORMATION
SIZE

PB10-4L15(Beam Spacing210mm)

= 1045 mm

< 1045 mm

Q

O

PB10-8L15(Beam Spacing210mm)
2009 mm

:N‘

-4 2009 mm

Q

O

r




PRODUCT INFORMATION
WIRING DEFINITION

The Transmitting End Receiving End
P
= : Of v —|ON
< &= Tranmitier strength SR R -resporse TimeSetin
a|| >
S (Clockwise: crescendo Niken® TP Anti-Dismantle Switch
= Counterclockwise: fade - = ?éﬂﬁ?%ismantle ki
away) (__:__\1; Interface
= - N iy GND Power Positive Input
NIER9, IR TR st N|feng VIN+Power Positive Input
N|fen® VIN-Power Negative Input N|En® NO The Relay Is Normally
- Tp3 Anti-Dismantle Switch Al Open
NI (g, Inﬁerface A | C 2 COM Relay Common Pin
N O — Tp1 Anti-Dismantle Switch M| G gC The Relay Is Normally
N Interface g_ [CO losed
IKe e
2, ﬂ 2 =
)] — 00
[l o U]

N UL
Setting: Transmitter Strength Adjustment Setting:JP1,JP2, SW1



PRODUCT INFORMATION
CURTAIN PHOTOCELL INSTALLATION

AT
—

///_//////////////////////////////_//%2VV w,yw__mwv/é//////z

S

i

Lock Screws

M2*8
M2*8

%

Lock Screws

_//%E///é

ALLAVLEAAYARARAYAAIAAY

NN

o L LATL L LLE LU LR TR TL L LT LT LT TR T
of A23 A 2 ©
C | ¥ Y,
a % q % | e
o ECs T e B L T

e -



PRODUCT INFORMATION
PACKING LIST

ke

M3*25

[,;r%} 3ﬂ

FRFA
115

it ($5A=
21

3l < 3 T '1"'5"- T T T L

= e \ \ \ '.5.,H ,,,,,,, AR RRRRRRRR!

B < B% S:r \X_L\L_ hxuﬁi" T\n "1 1)\ Hi ILARRLRRRAAN 11.'1’1.'111";1".

ENE R -

0 s W |

== 5 o | = s
oo —

H RS- “
Er’ &

E 'l, H"""I‘T "" TiLl '||"|—"'r ’1 1 1'r.| T ..-"",I-

jﬁ_,{ r*ﬂ L W mw\“ AL LA Hi\,} !

T :

= |

O

i

1.Curtain Photocell 1 pair

2.User Manual 1 Set

3.Mounting Screws M3*25 4Pcs

4 Wall Plug 4 Pcs

5.Jumper Cap 2 Pcs

6.Spare Screws M2*8 4Pcs




	红外光栅切片1_001
	红外光栅切片1_002
	红外光栅切片1_003
	红外光栅切片1_004
	红外光栅切片1_005
	红外光栅切片1_006
	红外光栅切片1_007
	红外光栅切片1_008
	红外光栅切片1_009
	红外光栅切片1_010
	红外光栅切片1_011
	红外光栅切片1_012
	红外光栅切片1_013
	红外光栅切片1_014
	红外光栅切片1_015
	红外光栅切片1_016
	红外光栅切片1_017
	红外光栅切片1_018

